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SN AREAD
B ol Ame Ust
Chelr &E =X 2435 A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEPEEREES]
70,0002 x0H #2353 1,260
202 04dl 1,620 1,620
01 2L AL 1,620 1,620
odaZY HXI0H 1,620,0002 %12 1,620
203 =4l 3,800 3,800
03 A=A 2= 3,800 3,800
Ot RAA =T 3,800,000 14| 3,800
307 lztol & 9,000 9,000
04 QIZHHAMAIRH 2 X 9,000 9,000
OSHZAA AL WF
2,250,000 *43 9,000
A0S 25 CIOIEBI0NIA &I 20,000 20,000
201 er2 3| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
OLHXI0IEEX UIOIEHIoIA FXI2el
20,000,000 * 14! 20,000
agol AgEd NE 28,900 28,900 0
S 7,225
= 21,675
402 QI+ X201 & 28,900 28,900 0
= 7,225
o 21,675
02 PIIH2 AN 2 X (OIH T 28,900 28,900 0
OYYAL NHFY TR
36, 125,000 «80% 28,900
=S 7,225
s 21,675
2ol AYuF 10,000 0 10,000
< 5,000
s 5,000
307 glztol & 10,000 0 10,000
= 5,000
= 5,000
02 2B YAIHE £ 10,000 0 10,000
Oyl HHu= 10,000,000 * 14 10,000
= 5,000
[Ea 5,000
A= M AtZ 2] 46,037 0 46,037
= 46,037
101 @124H| 36,410 0 36,410
= 36,410
M ORINZZ2NSE S 36,410 0 36,410




SN AREAD
B ol Ame Ust
Chelr &E =X 2435 A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OVMAAS TR Q12|
32,998,000 x 14 32,998
= 32,998
oOnERE= 3,412,000 x14] 3,412
= 3,412
201 2= 9,627 0 9,627
= 9,627
01 AtR2t2lHI 9,627 0 9,627
OZAIZIRE! AL
7,418,000 * 14 7,418
= 7.418
O2ZHI(NPES, DSS)
2,209,000 %14 2,209
= 2,209
SENEFY 9,691,834 12,387,289 N\2,695,455
= 3,526,080
Jl 108,480
=S 1,839,088
s 4,218,186
HEMEESE e et 0
= 544,444
= 70,000
[Ea 163,333
401 AIZHIX R0 20,000 20,000 0
= 14,000
= 1,800
= 4,200
02 Zeltl 20,000 20,000 0
odTAEBY Zell
20,000,000 *14] 20,000
= 14,000
= 1,800
= 4,200
402 I2FX=01 & 757,777 757,777 0
= 530,444
= 68,200
= 159,133
03 2IZ+RAETAIS I 757,777 757,777 0
O T ARIZACHT ISTHRAI ]
757,777,000 *14] 757,777
= 530,444
& 68,200
= 159,133
TEAIS 538,329 546,227 AT,898
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Hu: 9ol 2
2

=aak ZF:!I?%O%/SO EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 270,162
=S 82,445
s 185,722
402 2I2FXH=201& 538,329 519,227 19,102
= 270,162
= 82,445
o 185,722
03 2IZ+RAETAIZHI 538,329 339,227 199,102
OXSAMS(BHMExH)
538,329,000 *14] 538,329
= 270,162
= 82,445
o 185,722
AL (XA 175,937 175,937
402 2I2F X201 & 175,937 175,937
03 2I2+LAEAIZHI 175,937 175,937
O3 M=+ =8AME & 2
175,937,000 * 14| 175,937
ZURSY X8 72,300 0 72,300
= 36,150
== 10,844
o 25,306
401 AIEHIZ SR 0HYI 72,300 0 72,300
= 36,150
= 10,844
o 25,306
01 AlZ2H| 72,300 0 72,300
OZLRXE(BUR3)
72,300,000& *14] 72,300
= 36,150
= 10,844
o 25,306
TEAMH(E) 30,861 90,337 N\59,476
[ 9,258
Ea 21,603
402 BIZtAH=01 A 30,861 90,337 N59,476
== 9,258
= 21,603
03 2IZH2AETAI I 30,861 90,337 ~\B9,476
O2UR = (LB THHLX)
30,861,000& x 14 30,861
= 9,258
Ea 21,603
KNS Ee &8 312,255 208,169 104,086
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B ol A Usl
Chel: MEIRAEA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 186,128
=S 46,838
s 109,289
401 Al HIZ R 0HbI 208,275 208,169 106
= 104,138
= 31,241
Ea 72,8%
01 AlZH| 202,067 202,381 A314
OXNH=E3E X4 202,067,000 * 190 2 202,067
= 101,034
= 30,310
= 70,723
02 Zcltl 4,708 4,289 419
OXNHE3E X4 208,275,000 *2.26% 4,708
= 2,3%
= 706
= 1,648
03 AIZ S THYI 1,500 1,49 1
OXSEssy =4 208,275,000 0.72% 1,500
= 750
= 225
= 525
402 2IZtA=01d 103,980 0 103,980
= 51,990
= 15,597
= 36,393
03 2I2+RAETAIS I 103,980 0 103,980
oY= =8(5ha) 103,980,000 *14] 103,980
= 51,990
= 16,597
s 36,393
BANZEE A 109,906 74,920 34,986
= 54,953
< 16,486
= 38,467
402 QI2F X201 & 109,906 74,920 34,986
= 54,953
== 16,486
o 38,467
03 2IZHAEALHHI 109,906 74,920 34,986
OEtAN2 T A (5ha)
109,906,000 *14] 109,906
= 54,953
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B ol A Usl
&l MRS EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 16,486
= 38,467
TEAEE2F 12,000 12,000
201 B2 AY| 7,200 7,200
01 At=R2teld| 7,200 7,200
OgEt=2H| 7,200
OXEMAFE AIRESSHI
200,00021* 122 2,400
OARYUSAL, £IIRIIBAL S O 2
AlH| 8,000 600 4,800
202 0idl 4,800 4,800
01 =LHO4 b 4,800 4,800
OX=HXIZ2H I RF=E 0]
20,00024+22+402 1,600
OMXIHEADEZ 0|
20,0003 x2H+60 2,400
OY L= AR &I F& 0|
20,0003 «2Y 20 800
M= RIIALS 2,240,508 2,607,440 A366,932
= 1,120,24
T 336,075
= 784,179
402 QI X201 ™ 2,240,508 2,539,440 293,932
= 1,120,254
= 336,075
= 784,179
03 Q12+ ErALA I 2,240,508 2,159,440 81,068
O=ItFIIAI 2,240,508,000& * 14 2,240,508
= 1,120,254
& 336,075
= 784,179
SU=IHRI| 216,960 216,960 0
| 108,480
T 32,544
= 75,936
402 QI R=01H 216,960 216,960 0
| 108,480
& 32,544
o 75,936
03 QIZtRIErALRHI 216,960 216,960 0
O32=It1RI|(80ha) 216,960,000 * 14! 216,960
| 108,480
& 32,544
= 75,936

»
|




SN AREAD
B ol A Usl
Chel: MEIRAEA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSAEIRIIAY 192,484 235,769 N43,285
= 97,217
== 28,580
[Ea 66,687
101 e124d| 165,180 209,19% N44,015
= 83,565
=S 24,485
s 57,130
04 JIZtN2Z2 XS 2 165,180 209,19 N44,015
O=IHI| RFAEZAE (1Y) 24,330
@)ulal:] 21,014,000& *1& 21,014
= 10,507
=S 3,182
s 7,3%
O4tiEg= 23,880,000 *12% 2,806
= 1,433
=S 430
s 1,003
Ou=H| 450,000 *14] 450
= 450
O&tEBI0I20 A =8 H 43,924
o=y 19,106,500 x2& 38,213
= 19,107
=S 5,732
s 13,374
OdtiEs= 43,424,000 *12% 5.211
= 2,605
=S 782
s 1,824
Ou=H| 500,000 *14] 500
= 500
O=IFIINES 96,926
o=y 21,103,500 4 84,414
= 42,207
= 12,662
o 29,545
O4liEs= 95,926,000 *12% 11,512
= 5,756
= 1,727
o 4,029
Ou=H| 1,000,000 *14] 1,000
= 1,000
201 fer= 3| 27,304 26,574 730
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2,222,000& *14]
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7,000,000 14!

HoH W Mo W

HH W

HH W

HoH W

19,304

2,222
1,111
333
778

600
300

210

16,482
8,241
2,472
5,769
8,000

1,000
500
150
350

7,000
3,500
1,050
2,450

19,156

7,418

148

582

01018 AHHHOIL0HA =T

M

252,500
75,750
176,750

242,153

10,347

101 e124d|

UMY

230,000
69,000
161,000

219,650

10,350

04 JIRHNZ2Z2XSE+

OelAt|

@ZN1==h=:

©0I0|8 AHHHHOI200 AT SH(10Y)

198,000,000& * 14!

225,000,000 *12%

M H

M

230,000
230,000
198,000
59,400
138,600
27,000
8,100
18,900
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SN AREAD
B ol A Usl
&l MRS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ou=H| 5,000,000 14 5,000
= 1,500
= 3,500
201 er=23y| 22,500 22,503 A3
=S 6,750
s 15,750
01 At 22|l 19,500 19,503 A3
O0I0I8 AHHBI0IL AT E 2
19,500,000 * 14! 19,500
< 5,850
= 13,650
2 s5=34l 3,000 3,000 0
OUI0IE LHEHI0IiA+EE 23
3,000,000& %14 3,000
= 900
o 2,100
ZERAL= 22l (2HID1) 104,144 138,859 N34, 715
[ 31,243
T 72,901
402 QI>F X201 & 104,144 138,859 A34,715
= 31,243
= 72,901
03 2IZ+RAETAIS I 104,144 138,859 N34,715
Ox=SXIAt= 22l (ZEHID)ALE
104,144,000 *14] 104,144
= 31,243
o 72,901
Z=RIIMS2SE 4,400 4,400 0
201 2= 2,400 2,400
01 At22t2l] 2,400 2,400
oget=ZH| 2,400
O=IIIERFA AIRS S
200,000 122 2,400
202 04dl 2,000 2,000
01 =LHNHI 2,000 2,000
=IHRIIANE AR Z AR
20,0003 x2& 50! 2,000
SAHEMEIOS 2E0LIN X2 38,000 44,400 26,400
= 19,000
= 3,800
o 15,200
307 @120l & 38,000 44,400 26,400
= 19,000
= 3,800
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SA ARIEAD
B ol A Usl
SRl M= S (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
[ 15,200
02 QIZHEAAHE R 38,000 44,400 6,400
OMEMEIIIE 2YULIN
19,000,000 »2H 38,000
= 19,000
& 3,800
[ 15,200
datE2 HEFHEGH K 145,500 223,130 ATT7,630
= 58,200
& 43,650
= 43,650
307 212+01™ 145,500 223,130 AT7,630
= 58,200
& 43,650
= 43,650
02 QIZHBAAIEE R 145,500 223,130 AT7,630
OYLE ZERAEGHE4ML)
291,000,000 *50% 145,500
= 58,200
T 43,650
= 43,650
a2 fSIIg 24 186,500 307,500 A121,000
= 74,600
= 55,950
= 55,950
402 QI2H X201 ™ 186,500 307,500 A121,000
= 74,600
= 55,950
= 55,950
02 QIZEXHE2 A 2 ZZ (01 THE) 186,500 307,500 A121,000
OYA2 JI2EUI(320H)
95,000, 0003 *50% 47,500
= 19,000
& 14,250
= 14,250
OLME ME - AXZAIE(1214)
132,000,000 *50% 66,000
= 26,400
= 19,800
= 19,800
OYAE RSIIBHXIHIXE 10H)
30,000,000 *50% 15,000
= 6,000
= 4,500




SA ARIEAD
B ol A Usl
&l MRS (CH9: &S1)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
[Ea 4,500
OYHE RSIILHASEX 30H)
60,000,000 #50% 30,000
= 12,000
= 9,000
o 9,000
OgYgLE RSIIEHLES=2 30H)
51,000, 000& »50% 25,500
= 10,200
=S 7,650
s 7,650
OYits FSINEHFSIIXN 1HA)
5,000,000 *50% 2,500
= 1,000
s 750
e 750
2AtE MADE X 977,784 973,137 4,647
= 391,113
s 293,335
s 293,336
402 2I2FXH=201H 977,784 973,137 4,647
= 301,113
= 293,335
Ea 293,336
02 RIENZASEZ (01 THR) 977,784 973,137 4,647
og-g=2ael(560ha) 775,200,000 #50% 387,600
= 185,040
= 116,280
o 116,280
OXI &I ZHI(33CH) 52,000,000 #50% 26,000
= 10,400
= 7,800
o 7,800
O#AHEHI(310CH) 279,816,000 *50% 139,908
= 55,963
= 41,972
2 41,973
O EHYH FHI(200H)
20,000,000 #50% 10,000
= 4,000
= 3,000
[Ea 3,000
O==Z Al&(170km) 675,551,000 #50% 337,776
= 135,110
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2H MRS
M ool 2
[=2

o Z:!IFO%O%/SO (CH9: &S1)
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
= 101,333
2 101,333
OUHZEBIDIRIAlIE (57H4)
33,000, 000& *50% 16,500
=2 6.600
= 4,950
= 4,950
OBABHAIL(BIHL)
120,000, 0002 *50% 60,000
= 24,000
& 18,000
= 18,000
HIOTHEHAI A 720,000 1,194,760 N474,760
= 283,000
L= 216,000
= 216,000
402 QIR0 M 720,000 1,194,760 N474,760
= 283,000
= 216,000
2 216,000
02 A=A (0IETHE) 720,000 1,194,760 NAT4,760
O AT Al & (225) 479,000, 0002 %50% 239,500
2 95,800
= 71,850
2 71,850
OSEHHXI A Al (3H2)
104,000, 000& *50% 52,000
= 20,800
= 15,600
2 165,600
OEIDIN27Y (54,2002)
271,000,000 *50% 135,500
2 54,200
= 40,650
2 40,650
OHEINSLHIXIT(286,0008)
286,000,000 *50% 143,000
= 57,200
= 42,900
= 42,900
OLHIHATHAH IR AIE (7))
300,000, 000& *50% 150,000
= 60,000
= 45,000
= 45,000
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B ol A Usl
&l MRS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
gt o= THEH 2 362,677 1,320,631 A957,954
= 253,874
== 54,401
[Ea 54,402
307 212+01& 362,677 0 362,677
= 253,874
=S 54,401
s 54,402
02 QB HANEER 362,677 0 362,677
O M2 H (466ha) 235,000,000 +14! 235,000
=2 164,500
< 35,250
2 3,250
ORII1ZH|2(63,839%)
127,677,000 * 14| 127,677
= 89,374
= 19,151
o 19,152
AHEA S ALK 52,000 267,628 A215,628
= 20,800
= 15,600
o 16,600
402 2I2F X201 & 52,000 267,628 N215,628
= 20,800
= 15,600
o 15,600
02 QI X2 AL E R (0IETHE) 52,000 267,628 N215,628
OL SR SMAC T ZA (A 1)
99,000, 000& *50% 49,500
= 19,800
= 14,850
= 14,850
OZAIAIE (1) 5,000, 0002 *50% 2,500
= 1,000
= 750
= 750
MESEFIHR(32) 197,920 0 197,920
= 98,960
= 49,480
= 49,480
402 QIF X201 & 197,920 0 197,920
= 98,960
< 49,480
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MEE
Ofl &k2h

02 Zteltl

o=T4= FARL

[== gl

40,069,000 *14]

HH W

40,069
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20,035

6,010
14,024

45,382
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HH W
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9,800
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402 SI2+X}
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OALIROISEHERIA(4Y) 105,931
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100&*10,0000H 1,000
OSHza2g 22357
2,000,000 *37H 2= 6,000
O= gl 10,560
ONEE =4 & HY2F Sl
8,000 164! 60! 7,680
ONMEE =4 & HIY2F 2HAHI
3,000 * 164! 60! 2,880
2 35244l 1,560 1,560 0
0=32= # HAl 660
OAURMEE =2 &=
20,0002+ A+ 112 660

_26_




SN AREAD
B ol Ame Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(CJul=a:] 900
OALRMEE =4 A=Y
100,000 *30H A3 900
202 04| 2,700 3,600 A900
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402 QI”F X201 & 244,800 326,400 A81,600
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= 690
= 207
= 483
01 =LHA LI 1,380 1,380 0
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202 04l 5,000 5,000
01 2LHoIH 5,000 5,000
OY=EHA =2FHRFA 0ol
20,0003 x2& 25 1,000
OUEHHEPE R 2L
10,0003 x4 & «25& 1,000
OdEHEER T 22/04H|
50,0003 28 30 3,000
AE2ASIAIE RRIES 8,300 0 8,300
= 2,490
Ea 5,810
401 AIEHIX R0 8,300 0 8,300
S 2,490
o 5,810
01 AlZ2H| 8,300 0 8,300
OMEASTIANE X2
8,300,000 * 14 8,300
& 2,490
Ea 5,810
AEFS SKES 1,436,9% 1,137,580 299,416
= 44,364
Jl 250,000
= 179,440
Ea 963,192
25+3H| 49,000 49,000 0
=S 14,400
s 34,600
401 AIEHIZ SR OHYI 49,000 49,000 0
< 14,400
[Ea 34,600
01 Al&HI 49,000 49,000 0
2S+3Hl 49,000,000& *14] 49,000
= 14,400
= 34,600
2SI (XHA) 80,000 73,000 7,000
401 AIEHIX S0 80,000 73,000 7,000
01 A28l 80,000 73,000 7,000
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OES (A=) SallSLA
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s 27,000
s 63,000
oz=Z 2el2dg 28,000,000 * 14| 28,000
& 8,400
= 19,600
SSZEHIAFS (XHAI) 50,000 50,000
401 AlEHIY S CHYI 50,000 50,000
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OAMLH (REEAH) X2
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[Ea 84,000
== ¥8AE 50,000 185,000 105,000
307 @I2to| & 50,000 155,000 105,000
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OZ L2 (AFRIN) ALY
10,000 %10, 000kg*50% 50,000
IIEER0SEA 27,000 0 27,000
Il 13,500
== 4,050
o 9,450
S 27,000 0 27,000
Jl 13,500
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o 9,450
14 0Bt 2a3 27,000 0 27,000
OJ==2L 0I8EN X
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7l 13,500
= 4,050
o 9,450
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— 49 —




SN AREAD
Hu: E0e AR As)
ol SMAE 2SS EY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLIRt QAIH JIBHAIE X2
29,700,000 * 14! +80f% 23,760
= 7,128
o 16,632
FASKHS EF 70,000 0 70,000
== 63,000
o 7,000
206 M=l 70,000 0 70,000
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03 A= I 2,000 2,000
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20,0002 x5 25 2,500
t=ge 2 3,246,700 2,326,806 919,8%4
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Jl 161,069
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= 106,551
= 13,540
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& 13,540
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= 47,705
14 J|EtE2aS 132,500 130,000 2,500
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[Ea 110,600
14 JIEt 23 158,000 135,000 23,000
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100,000 %3, 1005=+50% 155,000
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OAs M=t dEH| X1
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EYS I 8,400 8,400 0
201 Zet=Ehl 2,400 2,400
01 AtR2telHl 2,400 2,400
o= gl 2,400
OJt=d9 dad 221 sS4l
8,000 2 150! 2,400
202 04| 6,000 6,000
01 SLHoIH 6,000 6,000
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JIEEg2E 57,600 51,500 6,100
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6003 *2,0000H 1,200
OIIBYAALET AIREE 7Y
250,000 x 122 3,000
206 MH=H| 6,000 4,000 2,000
01 M=4l 6,000 4,000 2,000
OFHY BAFER FAD| 7
15,0003 #4002+ A 6,000
301 22N = 41,200 38,400 2,800
14 J|Et24 =3 41,200 38,400 2,800
OJt=EEY AL Meldl(sitg) X
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oA=L Xz 3,800,000& x2& 7,600
O=4 etMatelt|
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206 M=l 110,000 100,000 10,000
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otsgY ofF 7Y 110,000
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O8I =42 7
5,0002+3, 00074 15,000
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